N = 0l & At & M A

SN HAo
M 30 OE HHIA MZ(HED)
Chelr BENO HHM 29 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A 2,603,451 2,704,659 A 101,208
F0 Ot=E NHIA M3 (H&EH) 605,890 580,283 25,607
SsEX0 HdH 29 605,890 580, 283 25,607
FOHY X (HEH) 229,990 229,792 198
201 L2l 1,000 1,000 0
03 &Ar2 I 1,000 1,000 0
OSELEAN 2 1,000
301 LA F 228,990 228,792 198
05 8% -0 -tHESEHS 223,630 223,630 0
OJURSE=, 216,480
Jlg=sg 300,000 » 449% 128 158,400
-& =3 300,000& = 44%H « 23| 26,400
~slo g Hag
20,000 = 44FH * 13 ~ 123 10,560
-0 ESNURSXH
20,000 = 44FH * 13 123 10,560
-SXNE0 s
20,0003 = 449H « 123 10,560
Ot 50,000& » 143H 7,150
09 AL HIXI& 3 5,360 5,162 198
OO0l% HEXAS U MAAAR
90,000& * 444 3,960
OsSgdM "= FItE4 7,0008 » 200H 1,400
S SHNE EE(HAEH) 5,000 5,000 0
201 £B-2dH| 5,000 5,000 0
01 At 22l 5,000 5,000 0
Os - St 82 5,000
HY2Y L 22 (HAH) 196,569 173,452 23,117
101 @144 Hl 83,712 62,885 20,827
04 JIZHHZ2XEE S 83,712 62,885 20,827
OREZHS BLXY o2y
69,760& = 150 10,464
Ode Xl X J 2el+=H ARY
69,7603 * 3¥ = 350 73,248
201 Ler24E] 43,657 44,267 A610
01 At 22l 16,319 16,319 0
O SAMEX 3,500
OS8 - ae3) =8 L £y
500,000& * 404 2,000
OXg&EAZ 395
-AgEE 35,000& = 3CH = 13l 105
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-S=3=2 40,000 = 3CH = 23 240
-XEE =X 50,000& = 104 = 13l 50
O&IItHHA =2 250,000& * 23| 500
ORFHIAAE” KX
195,000& » 3M A « 12& 7,020
O&=D 2z 20,0003 = 4CH » 12& 960
odldl gtz 18,000& = 9Uf = 12& 1,944
02 =224l 27,338 27,948 A610
O&F A 20,640
=] 9,000
-MIIe3 900,000& = 12& 10,800
=53 70,000& = 12& 840
OgZMNERE= 498
RPN 83,0002 * 6CH 498
OE&E & 6,200
-2~ 835t = 600,000& = 3CH 1,800
S35 =2 1,300,000& * 3CH 3,900
-XEE =X 500,000& = 1CH 500
202 04l 5,000 5,000 0
01 = LHO YI 5,000 5,000 0
oggHge =d 5,000
206 M= Hl 16,500 14,500 2,000
01 =8l 16,500 14,500 2,000
OdetXl MJl=Hs 0t  500& * 7,0000H 3,500
O=EZds 224 W& 5,000
Oogdg |FH 8,000
401 AIEHI L 20 47,700 46,800 900
01 A& HI 47,700 46,800 900
O24 A S4B A 22,000
O=2xa USRA |2 I3 A 5,100
OSHUIASALY 3L SHA 2IZEESA 20,600
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101 @124l 30,138 34,046 A 3,908
04 JIAHIENSE 4 30,138 34,046 £3,908
ORENE ZEHFAHA 02
69,7603 * 207 14,441
ORAEE HM=HY =2 69,7603 = 18 1,256
O35 - 20IstE A 2el URY
69,760& = 207 14,441
201 LB-2E| 95,793 103,493 AT,700
01 At 2t 2l 7,423 9,423 A 2,000
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2N
X ZH -
L= B

el

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
OWAME =2 2 BH£=2 & H|(L=150m) 35,000
OAE =2 2 Hi4=2 & H| (L=150m) 35,000
O=Y ™1 M&A-HI(L=170m) 40,000
ONE =2 2 Hi4=2 A H| (L=140m) 35,000
OXNE =2 2 Hi2=2 & H| (L=100m) 35,000
O21 =2 2 Hi4=2 & 4| (L=210m) 35,000
TAFRYE L FHIHLENEX R T2 (HEH) 20,000 20,000 0
401 Al HI L £ 0HHI 20,000 20,000 0
01 Al& H| 20,000 20,000 0
OEANXNY KAE 4| 20,000
s A (3dH) 132,000 132,000 0
201 gBt24Ay| 108,000 108,000 0
02 2% H| 108,000 108,000 0
OJlzs &IIR=2 9,000,000 = 12& 108,000
401 AlEHIZL £ 0HY| 24,000 24,000 0
01 Al&H| 24,000 24,000 0
Os&EIEs 8 20,000
OEANIIZS 2 4,000
StAI2SIE AR 22 39, 156 40,838 AN 1,682
SHEZTAE e - 24 39, 156 40,838 AN 1,682
SHISITAIE 2922 39, 156 40,838 AN 1,682
101 e1214| 22,324 24,006 A 1,682
04 J|12ZtHIZ22NEES 22,324 24,006 N 1,682
OHYSSHANE =81 el 2%
69,760& * 320 22,324
201 et 9| 14 552 14,552 0
01 AF2 2t 2| bl 3,012 3,012 0
OB 2IEANE 29 1,500
OEHE2HAE ROHHIAIAE S XH|
126,000 * 12& 1,512
02 22244l 11,540 11,540 0
Q& 23 ™Al 11,540
-5E22= 670,0008 = 12& 8,040
-3 24| 1,500
-AIE =2 Xl 2,000
206 M = dl 2,280 2,280 0
01 X Z H| 2,280 2,280 0
OSHE2TFHAE ZHS SHESE
500,000& * 33| 1,500




SN HAo
Hu: BASSTAIE e
el SHEESEANE L - 29 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OSG2STAIE MYI=AHE Ot
1,300& * 6000H 780
HY2IZH (FEH) 456,405 431,538 24,867
olA2YH(HAH) 337,479 315,448 22,031
QlAH(EEH) 337,479 315,448 22,031
101 @124l 337,479 315,448 22,031
03 RIAHAZZ2HE > 337,479 315,448 22,031
og&dilst& 337,479
-l (6Y) 336,759
-Igs 60,0003 * 6H =« 23| 720
Jl2ZH(#EH) 118,926 116,090 2,836
Jl2dHI(#&EdH) 118,926 116,090 2,836
201 Let24d] 40,636 38,600 2,036
01 At 2teltl 28,380 29,244 A 864
OJle=+=&Hl 15,000
OJlEs &l 4,800
OMZREZ 15,000& = 108 = 12& 1,800
Ol 60,000& = 198 = 113« 6,780
02 2324l 12,256 9,356 2,900
Od3R= 30,000& = 123 360
ORELERsS 33,000& = 12& 396
ORERS 7,000
O=At21 = X8l 4,500
202 o4dl 66,000 66,000 0
02 M0 66,000 66,000 0
OEHo 220,000& = 259 » 123 66,000
203 YR =] 12,290 11,490 800
01 12 2Z YR8 6,800 6,000 800
OPided 9 HOEE ALEX 6,800
02 3 Jtatg =2 1,116 1,116 0
OZJA AJI&Z Al
40,000% = 319 * 90/100 1,116
04 FN2ELRZ=TH| 4,374 4,374 0
L VEX-T- L
405,000% = 128 = 90/100 4,374




